(A\+ 8)2 =4+ 2/a 8 + 62

(A-8)%=a-24a8+ 8’

& -¢e’=(a-e)(a+e)
A%+ 8% = (A+ 8)(a’—/a e + &%)
A + 6> = (A- 8)(a’ +/a e + 6°)

(A\+8)3=a+3/a’6+3/4a86%+6°
(A 8)°=/2%-3/a%6 +3/26%-6°




1a) (2a * 38)° 10) (2a° + 38°)*

(2a)® + 2-2a-3B +(3B)? (2a%)? + 2-2a%-3B> +(3B>)?
4a’* + 12aB + 9B 4a* + 12a’B> +
2a) (6% - 2a)(83 + 2a) 981133 + y°)(y° —
3x°) (8%)? - (2a)? (y®)? - (3x3)?
B® - 4a’° y*? - 9x°®

3a)i2a 3)aH4Aa%=2864a +(8)?)
(2a)’ + (3)2 =4a*+9

36) (4a — 58)§16&2eH RFBH1258) (58)2)
(4a)’* - (58)° = 16a* — 25B°



2A. BbinonHuTte pencTtBus, NPUMEHUB HYXHYIO

dopmyny.
a) (2x + 2y) (3x - 3y);

0) (3 - 3x) (7a - 7x). (CamocTosiTENIbHO C
NPOBEepPKOU Ha IKpaHe)



3A. Pasznoxurte Ha
MHOXUTENu

Bx+D)Bx-D)+(5x+1)°

(CamocToATENBbHO C MNPOBEPKOU Ha

9KpaHe)
Bp-2k)2k+3p)-Bp-k).

4b. HamguTe 3HayeHue

SEIPEENY + D27 + D (2T + D (2% + 1) -2



